JTRAfFIS Y v TiRE R HREEXFI VIR
1 LE% =
2 BE AT,
3 £R KR
4 P 23R
5 FON N3
6 & &

7 EEESS
8 oE L FEF
9 a2
10 #O %A
11 SBIX BE T
12 T15 RE
13 Sun IE
14 RO HEF
15 === =11
16 e
17 A+ =F



javascript:document.toResult[1].submit()
javascript:document.toResult[84].submit()
javascript:document.toResult[2].submit()
javascript:document.toResult[85].submit()
javascript:document.toResult[3].submit()
javascript:document.toResult[77].submit()
javascript:document.toResult[5].submit()
javascript:document.toResult[78].submit()
javascript:document.toResult[8].submit()
javascript:document.toResult[87].submit()
javascript:document.toResult[9].submit()
javascript:document.toResult[74].submit()
javascript:document.toResult[10].submit()
javascript:document.toResult[75].submit()
javascript:document.toResult[12].submit()
javascript:document.toResult[76].submit()
javascript:document.toResult[13].submit()
javascript:document.toResult[79].submit()
javascript:document.toResult[14].submit()
javascript:document.toResult[80].submit()
javascript:document.toResult[16].submit()
javascript:document.toResult[81].submit()
javascript:document.toResult[17].submit()
javascript:document.toResult[82].submit()
javascript:document.toResult[18].submit()
javascript:document.toResult[83].submit()
javascript:document.toResult[19].submit()
javascript:document.toResult[88].submit()
javascript:document.toResult[20].submit()
javascript:document.toResult[73].submit()
javascript:document.toResult[22].submit()
javascript:document.toResult[86].submit()
javascript:document.toResult[23].submit()
javascript:document.toResult[89].submit()

